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QUESTION 1

Refer to the exhibit below. The routers have an established IS-IS L2 adjacency on which IPv4 system addresses are
exchanged. An operator successfully configures multi-topology I1S-IS routing so that the IPv6 system addresses are also
exchanged between routers. Which of the following statements best describes the number of IS-IS adjacencies and the
number of LSPs in the LSDB of R1 AFTER IPv6 has been configured?

10.10.10.1/32 10.10.10.2/32
FDOO:11:11::1/128 FD00:11:11::2/128

Area 49.0001
L2

Area 49.0002
L2

A. R1 has one IS-IS adjacency and one LSP.
B. R1 has one IS-IS adjacency and two LSPs.
C. R1 has one I1S-IS adjacency and four LSPs.
D. R1 has two IS-IS-adjacencies and two LSPs
E. R1 has two IS-IS adjacencies and four LSPs

Correct Answer: B

QUESTION 2

Which service type would be used to provide a bi-directional Layer 2 connection of TDM circuits over an IP/MPLS
network?

A. A-pipe
B. E-pipe
C. I-pipe
D. F-pipe

E. C-pipe
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Correct Answer: E

QUESTION 3

The link between routers R4 and R6 is down before the LSP is signaled. CSPF is not enabled on the LSP. Which of the
following conditions is TRUE?

R2 R4
10.10.10.2 10.10.10.4

R6
10.10.10.6

R1
10.10.10.1

path “path 1"
hop 10 10.10.10.2 strict
hop 20 10.10.10.4 strict
hop 30 10.10.10.6 strict R3 R5

no shutdown 10.10.10.3 10.10.10.5

Isp "toR6"

to 10.10.10.6

primary "path 1"

no shutdown
A. Router R1 sends a PATH message and router R4 sends back a PATH Error message.
B. Router R1 does not send a PATH message because it detects an error.
C. Router R1 sends a PATH message and router R4 sends back a PATH Tear message.

D. Router R1 sends a PATH message and router R4 sends back a RESV Error message.

Correct Answer: B

QUESTION 4

Click the exhibit button.
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Area 49.0002

R1
L1

10

=4

Area49.0001 \ &7, Q.F"
Area 49.0003 j-y

Given the diagram below, what path will traffic follow from router R6 to router R3, and from router R3 to router R6, if IS-
IS is the routing protocol? The numbers beside the links are the metrics for that link.

A. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3- R2-R5-R6).

B. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3- R4-R2-R5R6).

C. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3- R4-R7-R5R6).

D. Router R6 to router R3 will follow (R6-R5-R7-R4-R3). Router R3 to router R6 will follow (R3-R4-R7-R5R6).

Correct Answer: C

QUESTION 5

Which type of OSPF LSA lists the routers attached to a broadcast network?
A.Type 1l

B. Type 2

C.Type 3

D. Type 4

E. Type 5

Correct Answer: B
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